


19

19 10 20
75 59 79 % 6 6
7 7 100% 1 2
8 2 6 6 81 % 7 8
20 20 20 9 26
80 |:| ]
66
2
60 ) ]
40 (64)
20
6 3
[ 1 —




19




11

36

67 %

33%

40

30

20

10

36

Z
1

66

36

11

66




o]
o]
|
|
3%
33%
14%
..... O
1% 14y A1) %
(N:44) ..... E]
B E]
68% vl s o ™
AT I B (5 %
0% 20% A% 60% 80% 100%




o PP PE 72
14 67 PP PE 64 PS

PP PE 72
PS 14

PP PE 64
PS 3

PS



o
PP PE PS
o
10 45.5%
6 27.3%
1 4.5%
8 36.4%
0 0.0%
1 4.5%
26 -
N= 22
PP PE
13 18.1% 8 13%
21 29.2% 10 16%
7 9.7% 4 6%
22 30.6% 19 30%
9 12.5% 21 33%
................................................ 13].......18.1%). 19 30%
3 27 37.5%) 1 2%
.............................................. V] M D Tou
N= 72 94
N= 64
I"____""____'"'____""____""__'i
PS . PS !
1
! 3 i
0 0.0% i !
2 14.3% e o
0 0.0%
4 28.6%
0 0.0%
................................................. 5dceee...35,7% 1 33%
) [N 4 N 20.0% 2 67%
18 - 3
N= 14 N= 3




N=64

100%

29

81

35
30

N=72

100%

81

45
40
35
30
10

N-22

25
20
15
10

%00T 18
%08 T9
%09 Tv
woy T¢
%0c 0

%00T

%08
%09
%0y
%0¢

%00T

%08
%09
%0y
%0¢

18
T9
v
T¢

18
T9
v
T¢

PP PE






(N=72)

(N=64)

0% 20% 40% 60% 80% 100%

PP PE




@)
76 71
oPP PE
| 46%
[ 71%
| 57%
| 76%
32%
| 9%
7%
15% o
[11% =
I (N=55)
0%
| 11%
0% 10% 20% 30% 40% 50% 60% 70% 80% 90%
@)
5 2
3 2
1 2
1
1
PP PE

10




=
<
N

, 59%

=66

11



22%

54%

1%

14% N=76

12




40 %

13




